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KD5066 - Seminar Sheet Week 2
1)
Sketch the frequency domain spectra of the following signals.
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2)
Determine the bandwidth of (c) and (d) in question 1.

3)
Questions on basic modulation       


a)  Explain the need for modulation


b)  Explain the two basic categories of modulation


c)  What are the three types of analogue modulation

4)
Write down the expression for the following modulation schemes

Full AM, DSBSC, SSB 

5)
A message signal is modulated with a carrier signal to produce a Full AM signal. If the message and the carrier are given by:
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Determine the following:

(i) The message frequency, carrier frequency, lower sideband frequency, upper sideband frequency.

(ii) The Bandwidth

(iii) The Modulation index

(iv) Amplitude of the carrier, message, lower sideband and upper sidebands

(v) Sketch the frequency spectrum of the full AM signal

6)
A full AM signal is given by the following:
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Determine the following:

(i) The  modulation  index

(ii) Amplitude of the carrier, message, lower sideband and upper sideband. 

(iii) The frequency of the carrier, message, lower sideband, upper sideband.
(iv) Bandwidth of the full AM signal

(v) Sketch the frequency spectrum 
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